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/*for_test.c
#include<stdio.h>
int main()

{

int n; /~REBRLZB*/

int i; /*IL—Thooa*/

E#IEERERER( AAVNERE ) */

printf(" REE$%E A AL TTEL¥N");

scanf("%d",&n);
for(i=0;i<n;i++)

{

printf("/R1& %dEIE ¥n",i);

}

return O;
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/*5MElD 1S B3>/ Z2E)L— 7"0)7|:| —Fo—h

#define M 10 lé'—Ob\b
/<RI R EE %/ M—1%C
#define N 10 1955

int i; /*5MAlDAD 5>/
int j; /~MREIOAYE*/
for(i=0;i<M;i++)
{ for(j=0;j<N;j++)
{
IL—72
¥
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/*%F)L—TFEE multi_loop.c OAVNERE >/
#include<stdio.h>

int main()

{

inti; /*~ SMADIL—Tho 52>/
int j; /* MEIDIL—FHo 8%/

printf("* Lz (F57121F) RR¥N");

/* RITERLS >/
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for(i=1;i<10;i++)
{
printf("%1d®MEE:",i);
for(j=1;j<10;j++)
{
printf("%1d * %1d = %2d ",i,j,i*j);
if(i==j)
{

ks
ks
printf("¥n™);

break;

}

return O;
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ER B : yyyy/mm/dd
YERRE AT AER
SEEFR S BOzBOXX
Y—RI74)L:average.c
E{TI74 )L :average
S nEOEHHSFEEERHDTOT S L,
AN T—38ELT,
ZEANDOT—IADERERT
1DDEDEHNE AN,
LT, T—RELT,
FEANDONEDEHEEEZDIEETA I,
HAOBERAICTAhORKNEEZH T,
*/
/> ROR—=DIEES */
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/> fwmE O/
#include <stdio.h>

[*OOFHE>/
#define DATANUM 1000 /* T—%{EHD LR */
int main()
{ 7/~ ZEHES */
int  n; /* T3>/
int i; /* W—=THhoo8, EEfldatadiiF */
double ave; /*FE>/
double sum; /*¥aF0*/

double data[DATANUM]; /*T—%% ANBEE5>/
/* ARNE*/
I*T—38DAH*/
printf("7T—42#ZE A AL TTFILY, ¥n");
printf(""n= ?¥n");
scanf("%d",&n);
/* RDR—IIZHES >/
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/*T—38nDFvo*/
if(n<=0)
{ »
/* BREBAN T—3EHOLLT*>/
printf(" 7T —42MNEEL\D TI 13, ¥n”);
return -1;
b5
/* TNUETIX nIXIEDEEH*/
if(n>DATANUM)
{
/* REBAN: ERA—/N—*/
printf("T—A2MNE I EET, ¥n");
return -1;

b5
/* TNLIETIE. nldk1 HSDATANUMZE TH E#>/
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/*=fE>/
/* BEANDSESINT —2%EHRHAAL/
for(i=0;i<n;i++)
{
/* nEOEHT—E2DOASD */
printf("data[%d] = ?",i);
scanf("%lf",&datal[i]);

/> RISHRS */
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/*WNEAERTE>/
sum=0.0;

/*HHDEE>/
for(i=0;i<n;i++)

{
sum=sum-+data[i];

}

I*FHOFHE */
ave=sum/(double)n;

/> HnIE*/
printf("E#{EIL %6.2fTT, ¥n",ave);
return O;
s
= /=
E174I1
$make
gcc average.c -0 average
$ ./average
T—AEAALTTLY,
n= 7
3

data[O]= ?4.0
data[1l]= ?2.0
data[2]= ?-3.0
TfEX 1.00 TY,
$
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